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   )�:1(א�����ن�
1- 	
�ا��ت ا��� ������ام ا�����ت ا���  .ا�*12 ، ا�0,اء ، ا�.�ی�	 ، ا�,�+ ، ���*� ، م�)�ن& ، ا�$#��	 :  أآ�� 
، و ;��م� ی)��ز ......... �*�;	 ���A	 ، و ��@�? ه=> ا�*�;	 ��:��9 ........ ... ی��$� ا�8,ء �7 و�+ ش#�ف و -أ

  . ا�#�ص� �
F ا�,�2
F ........... اEش@	 ا�9,8
	 ;�� ........ ا�8,ء و�D �2خ�ا 
�ی�	 ان�*�ر اEو��ط -بK L
�	 ا���2.	 ، و ��;R ا�.�ی........... ����*Q	 ��0,اء إذا آ�ن ا�,�+ اEول ه, .........  ن�

  .�Sن*��ر 
�  . i ی)��ز ش@�ع ض,79 ا�*12 ا�#�ص� �
F ا�0,اء و و�+ ش#�ف �Lاوی	 ورود -2Q�@نr'                  ن@��سXا 	زاوی 
  .  زاوی	 اXن�*�ر rو 
�ی�	 اYن�*�ر ا�,�+ ا�$#�ف م@���ا ;��K Rن,ن7 اYن@��س و اYن�*�ر -أK ا�)�ول Fم Zا���� .  
  

90°     20°   i 
    30°     r' 
  40°   12.5° 0° r 

  

  .  ا����Z ا�Lاوی	 ا�]�ی	 �Sن�*�ر �7 ه=> ا�]��	 -ب

  :א�
ل�

�ا��ت  إآ��ل ا�#-1:  
 ، و ;��م� ی)��ز ا�,�+ �*�;	 ���A	 ، و ��@�? ه=> ا�*�;	 ��:��9 ا�0,اء ی��$� ا�8,ء �7 و�+ ش#�ف و -أ

�ا�8,ء و�D �2خ�ا *��� ��; 	
  . ا�#�ص� �
F ا�,�2
F  ا�*12 اEش@	 ا�9,8
�ی�	 ان�*�ر اEو��ط -بK L
 ، و ��;R ا�.�ی�	 ا���2.	 ا�0,اء ����*Q	 ��0,اء إذا آ�ن ا�,�+ اEول ه, ا�$#��	 ن�

  .�Sن*��ر 
  
  :ل ا�)�ول �آ�إ -أ -2
  

90° 47.9°  30°  20° 0 i 
90°  47.9°  30° 20°  0  r' 

39.3°  40° 18.4°  12.5° 0° r 
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  :  �Sن�*�ر  ا�Lاوی	 ا�]�ی	-ب
 ، ;�R ه=ا ا��Eس و ا;���دا ;�R ا�)�ول ��,ن r = 90°ن]:� ;�R ا�Lاوی	 ا�]�ی	 �[ن�*�ر مF أج� زاوی	 ورود 

   .ℓ = 39.3°: ا�Lاوی	 ا�]�ی	 �Sن�*�ر ه7 
  

   �:)2(א�����ن�

 ا�	�اء إ��  -1� �

 *+n *(��) ان&%�ر#  )و � ���ف( ��ض �� ��ء ����� ���ع ��++��� ،  (-n �.ن�   /+*

 (�، �&� زاو�) ورود   ا�-�ا=�) rن�+> زاو�) ا:ن&%�ر  ، و ��ا .) ت8	+3 ��� 7 ن6خ3�i  4او�) ا��رود �0�1
 تKخIJ� 4ث أر*�م ��? ا���ص0) ، =� �+
 sin i ، sin r*+-��  ( :ن�0A �BC ا����
@ ا�-?ون) =� ا�8?ول ا����� 


 ��? ا���ص0+-*)� �-	�+� (L%خ4 ا��Kت (. (  
  
  

  
  ��ذا تR�I ؟ .  أآ-� ا�8?ول ��? ن�� ا�8?ول �0A ور*) إج���N -أ
  
  .  nا ���@ *(��) ان&%�ر ا�-�ء  -ب
2-�
��ف 2-و �A? خ(وج� ��� ��1(ق و � ،  n1*(��)ان&%�ر#  ���ف  1- ، ��1(ق و � ن��L( ���ع ��� 

  .   n2*(��) ان&%�ر# 
  
  
  
  
  
  
  
  
  
  
  
  .*�ن�ن� ا:ن&%�ر نV  اذآ( -أ

 �( /  -ب+� ، �
�Wع ا���X%�ر ا��ن�داخ��Jا� �ا��   �=
+���Cا�  
    .n2 > n1  ،  n2 <  n1 :   ا����+�+
3- )Lن�� �1-ا�� �LA  #دي *(��) ان&%�ر�A زج�ج 
A رةn1 = 1.5� اء 2-   و ا���	ا� 
A رة�LA n2 = 1 .    
    .i = 200  ، إذا آ�ن\ زاو�) ا��رود   r أوج? زاو�) ا:ن&%�ر -أ

    ، م�ذا �*���Z ؟  i = 41.820 ;��م� ��,ن زاوی	 ا�,رود r أح*_ زاوی	 اYن�*�ر -ب
� مF م�ذا ی]�ث �, ��,ن زاوی	 ا�,رود أ -جـQ41.820آ .  F
� ا�,�2Q; 79,8ا�$@�ع ا� �
� d��� �eم.  

30.00  25.00  20.00  15.00  10.00  5.00 i 
22.08  18.50  14.75  11.25  7.50  3.75  r  
           Sin i  
            Sin r  

            
r sin

i Sin
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  :א�
ل�

  : إآ��ل ا�)�ول -1
  
  

  

  

- 	Q*أن ا�� jن[ح 
rsin

isin
  . م��0 آ�نk زاوی	 ا�,رود 

  

�ی�	 ان�*�ر ا���ء -بK :  
�ی�	 اXن�*�ر ) n = 1(ا�$@�ع ا�79,8 ان�.� مF ا�0,اء K ا���ء ذو Rإ�)n ( ن7 �[ن�*�ر ی�,ن�eو ح*_ ا�.�ن,ن ا�:  

                             ) 1 = (nr        sinn= isin  n airair  

                        n          = 
rsin 

isin 
  →r    sinn= isin  

�7 ا�)�ول ن)�  �0
   n = 1.34:������2.	 مn ا���
)	 ا���]:� ;�
  : �Kن,ن7 اXن�*�ر - أ-2

  :ا�.�ن,ن اEول 
  .ا�$@�ع ا�79,8 ا�,ارد و ا�$@�ع ا�79,8 ا����*� ی.@�ن �7 ن#& ا��*�,ي 

  :ا�.�ن,ن ا��eن7 


F ج_ زاوی	 ا�,رود � 	Q*ا��iن�*�ر  و زاوXا 	یr ا�,رود أي 	زاوی kم��0 آ�ن 	���A ن,�� ،  :k��A=
rsin 

i sin
  

� اEش@	-ب
� :   
 Rو�Eا 	1ا�]��n > 2n:   

      �pp��� ا�p$@�ع ا�79,8pp ا�p,ارد م.�*pی�� 	pp��[ا� <=p7 هp�
 dqا��� Rإ�.  

  
  
  
  
  
  
  
  
  
  

 Rو�Eا 	1ا�]�� n<  2n:   
� ا�pp$@�ع ا�79,8pp ا�pp,ار*ppی�� 	pp��[ا� <=pp7 هpp�د م�pp@�Qا 

 dqا��� F;.  
  
  
  
  
  
  
  
  
  
  

30.00  25.00  20.00  15.00  10.00  5.00 i 
22.00  18.50  14.75  11.15  7.50  3.75  r  
0.500  0.423  0.342  0.259  0.174  0.087 Sin i  
0.375  0.317  0.255  0.193  0.130  0.065  Sin r  

1.33  1.34  1.34  1.34  1.34  1.34  
r sin

i Sin
 

rr
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  : زاوی	 اXن�*�ر - أ-3

? ا�.�ن,ن ا��eن7 �[ن�*�ر Q2��:  

              r          sin n= isin  n 21  

         
n

isin  n
 r  sin

2

1=   (n2 = 1) 

                                 °31  ≈r   →   0.51 = 
1

°20sin   .  1.5
 =r  sin  

   : r =8241.° زاوی	 اXن�*�ر مF أج� -ب

? ا�.�ن,ن ا��eن7 �[ن�*�ر و ����Qع ن#& ا��Q2�� �(ن 	ات ا�*��.,t:  

              r          sin n= isin  n 21  

      
n

isin  n
 r  sin

2

1=     (n2 = 1 ) 

                                °90 =r   →  1   ≈ 
1

0.66  .  1.5
 = 

1

°41.82sin   .  1.5
 =r  sin  

   .ℓ = 41.82° ه7 ا�Lاوی	 ا�]�ی	 �[ن�*�ر أي r = 41.82ن*���Z أن ا�Lاوی	 
  
  
  
  
  
  
  
  
  
  
  
  
� مF -جـQا�,رود أآ 	زاوی k[°41.82 إذا آ�ن� 	اوي ا�]�یLا� Fم �Qن�*�ر ی]�ث ان@��س آ�7  أي أآ:  
 
  
  
  
  
  
  
  
  
  
  
  

                                           N                                      S  
  

  n1 ←←←←) 1(            ا	�"! 

                                I = l  
                                                       


 ا	'&��ي ا	"��  
  

                                                    I  
                                                         r = 900 

                                           
         

  n2 ←←←←) 2(                                                           ا	�"! 
   

n2 < n1  ،  lI =   ←←←←  r = 900.       

                    R                             N                             S  
  

              

                                       r = i           i   
                                                       

 n1 ←←←←) 1(ا	��"
 ا	'&��ي                                           ا	�"! 
  

                                            م          
  n2 ←←←←) 2(                                                               ا	�"! 

                                           
         

                                                            
   
 l I >    ←←←← *ان���س آ�  .  
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   �:)3(א�����ن�
 	�  : ی)��ز ش@�ع ض,A 79[ث أو��ط ش#�

�ی�	 ان�*�ر> 1- و�+-K   n1 = 1) ا�0,اء (  
�ی�	 ان�*�ر>  2- و�+-K  n2 = 1.5   
�ی�	 ان�*�ر>  3- و�+-K  n3 = 1.2) ��$1-ا�. (  
  
  
  
  
  
  
  
  
  
  
  
1- 7�� اEش@	 
�7 ا�$�� ;�R ورu�K �]�,ي ;�) 1-ا�$��( � 1
� اEش@	 �$�� ص]
� dأ;� ر� ، v2خ R.  
   .r1 = 200 ه7 2- إذا آ�نk زاوی	 اXن�*�ر �7 ا�,�+-2
�7 ا�,�+i1 أح*_ زاوی	 ا�,رود -أ -1.   

�7 ا�,�+i2 ا����Z زاوی	 ا�,ورد -ب -2.   
�7 ا�,�+r2جـ أح*_ زاوی	 اXن�*�ر  -3.   

  .;��  . 3- و ا�,�+2- آ�7 �7 ا�)��	 ا�9,8
	 ا����,ن	 مF ا�,�+ ه� ی��F أن �]�ث �qه�ة ان@��س-4

  :א�
ل�

1- 1
  : ا���d ا�:]
  
  
  
  
  
  
  
  
  
  
  
  
�7 ا�,�+ 1i ح*�ب زاوی	 ا�,رود - أ-2 -1:   


? ا�.�ن,ن ا��eن7 �[ن�*�ر Q2��:  
  

i1 

r1 

r2 

i2 

  1- و"!

  2- و"!

  3- و"!
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                       r sin n= isin  n 1211  

   
n

rsin  n
  i sin

1

12
1 =      (n1 = 1 ) 

                                 °31  ≈ i  →   0.51 = 
1

°20sin   .  1.5
 = i sin 11  

�7 ا�,�+ 2iزاوی	 ا�,رود  -ب -2:   
 i2  = r1 = 20°مF ا�$�� و �����Qدل ا��اخ�7 ی�,ن 

�7 ا�,�+ 2r زاوی	 اXن�*�ر -جـ -3:   

? ا�.�ن,ن ا��eن7 �[ن�*�ر Q2��:  

                       r sin n= isin  n 2322  

                                  
n

isin  n
 = r sin

3

22
2  

                                5.32  ≈ r  →   0.43  
1.2

20sin   .  1.5
  r sin 22 °=°=  

  
  

   �:)4(א�����ن�
�ی�	 ان�*�ر>                A = 60°إ�R م,ش,ر زاوی	 رأ�n1 = 1 ( x( وح
� ا��,ن مF ا�0,اء ی�د ش@�ع ض,79K و  

n2 = 1.5 ا�0,اء Rا��,ش,ر إ� Fم 	
  ) .2-ا�$��(  dA ی��ج م�ة �Aن
  
  
  
  
  
  
  
  
  
  
  
  

1- 7�� اEش@	 
�7 ا�$�� ;�R ور�K) 2-ا�$��( � 1
� اEش@	 �$�� ص]
� dأ;� ر� ، v2خ R�; ي,�[� u.  
    :i1 = 490 إذا آ�نk ا�Lاوی	 ا��7 ی�د ��0 ا�$@�ع ا�79,8 إ�R ا��,ش,ر ه7 -2
   .r2 أح*_ ا�Lاوی	 ا��7 ی��ج ��0 ا�$@�ع ا�79,8 مF  ا��,ش,ر -أ

   .D أوج� م.�ار اYن]�اف -ب
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  :א�
ل�

� اEش@	 -1
� :  
  
  
  
  
  
  
  
  
  
  
  
  
  ) :2r ( ا�Lاوی	 ا��7 ی��ج ��0 ا�$@�ع ا�79,8 مF ا��,ش,ر-ب


? ا�.�ن,ن ا��eن7 �[ن�*�ر Q2��:  
                  ) 1 = n (    r sin n= isin  n 11211  

                                  
n

isin  n
 = r sin

2

11
1  

                                 30  ≈ r  →   0.5  
1.5

49sin   .  1
  r sin 11 °=°=  

  :و ح*_ K,ان
F ا��,ش,ر 
A = r1 + i2 
i2 = A – r1 = 60 – 30° = 30° 


? ا�.�ن,ن ا��eن7 �[ن�*�ر -Q2�� :  
                       r sin n= isin  n 2122  

                                  
n

isin  n
 = r sin

1

22
2  

                                 49  ≈ r  →   0.75  
1

30sin   .  1.5
  r sin 22 °=°=  

  : م.�ار اXن]�اف -ب
  : ح*_ K,ان
F ا��,ش,ر ی�,ن -

D = i1 + r2 – A 
D = 49 + 49 – 60 = 38° 

  
 
 
 
  

A  

i1  

r1  

i2  

r2  
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.	 ا�>��]�
� ن*�	 مF ه=A, ی�L��� ذ.  و���Eا nK,م �ذو ا�@�,ان ا����7أدخ :   
  

www.sites.google.com/site/faresfergani 
  
  
  

��Kن7 ��رس  : ا���Eذ** �** 
 d��.�� kن�ی d��K م,�,د 	ن,ی�A

2
�	-ا���وب �*K  
Fares_Fergani@yahoo.Fr 

Tel : 0771998109 
 

�ونv� 7ي خ�� �7 ا��روس أو ا����ریF و ح�,��0 ���Yی� ا�Qی? ا��z F; ��� .ن�ج, إ�[
�.Q*ا م�  وش�


